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R 1. ROZHITRREMRE 230,
(1) 2?2 -3z —-1=0 (2) 2* +52+2=0

(3) 222 +2—-5=0 (4) 322 —2 -5 =

fE 2. ROZIKFBRREEE I,
(1) 222 +2—-1=0 (2) 322+ 5z —2 =0

(3) b2 —6x+1=0 (4) 422 =52 —6=10

M3, RO ZIRGBALEE R0,
(1) 22+ 42 +2=0 (2) 22— 62 —3 =0

(3) 322 — 22 —-2=0 (4) 522 +8x —1=0

F 4. RO ZRGRREME RS0,
(1) 22 + 5z =2 (2) 22 -3 =4x

(3) 22 +3x =4(x + 1) (4) 3x(x —1) =3z +5
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BRE 1. RO KRG EME I,
(1) 2?2—2-5=0 (2) 22 +32+1=0

(3) 322 +5x+1=0 (4) 222 —2—-4=0

BE 2. RO ZIRGEAEHEE RS0,
(1) 322 +2—-2=0 (2) 422 =32 —1=0

(3) 42?2 —x—-3=0 (4) 52 +8x +3 =10

HE 3. RO IRFTERAEHE oI,
(1) 22 +2x—-1=0 (2) 22 =8z +3=0

(3) 222 —6x+1=0 (4) 322 - 22 —-3=0

WE A4 RO IR EME RS,
(1) 22% 4 42 = 1 (2) 322 — 3 = 20

(3) 22 —4x = 3(x + 1) (4) 222z +1) =z +2



I 1
(1”:32\/@ (z)x:_wzm (3)932_1j¢H (4)m:1i6\/6_1
2. 1 1 3
(l)x:—1,§ (Q)x:—2,§ (3):5:1,3 (4):6:’_1
iR 3 .
Me=-25v2 @e=3+2 o= @a=t2V2
filed 4
B S Y PR L £
1

—+ 9 4 e N
T 2 1 3 3
Wr=-17 @z=1-7 @o=1-7 @z=-1-3
W 3
Wz=-12v2 ()z=4+VI3 (3>$:3i2ﬁ (zl):::zli:),\/E
T 4

9 4+ + N L
(1) == 2 =16 (Q)mzlg\/m (3)1.:72\/a (4) oz = 18\/§



